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QUESTION 1

Company ABC is using an Ethernet virtual circuit as its provider\\'s DCI solution. A goal is to reduce the time to detect
the link failure. Which protocol accomplishes this goal? 

A. UDLD 

B. Spanning tree bridge assurance 

C. Link aggregation group 

D. Ethernet OAM 

Correct Answer: D 

 

QUESTION 2

Which two design aspects should a metro service provider consider when planning to deploy REP for his backbone?
(Choose two.) 

A. Two REP segments can be connected redundantly at two points, one connection will be blocked as per the STP
defined in IEEE 802.1d. 

B. UDLD can be enabled on REP interfaces to detect unidirectional failures. 

C. The guaranteed convergence recovery time is less than 50 ms for the local segment. 

D. A REP segment is limited to a maximum of seven devices. 

E. VLAN load balancing for optimal bandwidth usage is supported in any REP segment. 

Correct Answer: BE 

 

QUESTION 3

You are designing an optical network. Your goal is to ensure that your design contains the highest degree of resiliency.
In which two ways should you leverage a wavelength-switched optical network solution in your network design?
(Choose two.) 

A. a wavelength-switched optical network guarantees restoration based strictly on the shortest path available 

B. a wavelength-switched optical network provides fault tolerance for single failures only 

C. a wavelength-switched optical network takes linear and nonlinear optical impairment calculation into account 

D. a wavelength-switched optical network assigns routing and wavelength information 

E. a wavelength-switched optical network eliminates the need for dispersion compensating units in a network 

Correct Answer: CD 
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QUESTION 4

Which DCI technology utilizes a "flood and learn" technique to populate the Layer 2 forwarding table? 

A. OTV 

B. E-VPN 

C. VPLS 

D. LISP 

Correct Answer: A 

 

QUESTION 5

What two options are significant drivers for 5G in IoT networks? (Choose two) 

A. Energy Efficiency 

B. Lower Latency 

C. Mass Connectivity 

D. Programmability 

E. Higher data rates 

Correct Answer: BC 
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